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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK TH
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEM
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Te
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at t]
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answ:
Sheet liable for rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet. s

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and Englis.
Each item comprises four responses (answers). You will select the response which you want to maz
on the Answer Sheet. In case you feel that there is more than one correct response, mark tk
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directior
in the Answer Sheet.

All items carry equal marks. _

Before you proceed to mark in the Answer Sheet the response to various items in the Test Bookle
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with yot
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination hs
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted f
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN TH
OBJECTIVE TYPE QUESTION PAPERS.
(i) There are four alternatives for the answer to every question. For each question for which a wrong answe

has been given by the candidate, one-third of the marks assigned to that question will be deducted ¢
penalty.

(ii)  Ifa candidate gives more than one answer, it will be treated as a wrong answer even if one of the give
answers happens to be correct and there will be same penalty as above to that question.

(iii)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for th:
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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3.

SRCY-S-ADN

If n € N, then 121" — 25™ + 1900" — (- 4)" is
divisible by which one of the following ?

(a) 1904
(b) 2000
(¢) 2002

(d) 2006

If n=(2017)!, then what is

il 1 1 1

+ + ot —
logzn log,n log, n log,,, 0

equal to ?

(a) O

(b)y 1

(c)

(S =)

(d n

In the expansion of (1 + x)%3, if the coefficients
of (2r + D™ and (r + 2)™ terms are equal, then

what is the value of r (r # 1) ?
(a) 5

(b) 14

() 21

(d) 22

(2-A)

What is the principal argument of (-1 — i),

wherei= /-17

(a) mf4
(b) —n/d
() —3m/4
(d 3m/4

" Let o and B be real numbers and z be a

complex number. If z2 + az + B = 0 has two
distincet non-real roots with Re(z) = 1, then it is

necessary that

(Y Be(=1,0)
b) [B] =1

() Pe,e)
d pBe(,1)

Let A and B be subsets of X and
C=(ANB)U(A N B), where A’ and B’ are

complements of A and B respectively in X.
What is C equal to ?

(a) (AUB)-(ANB)
(b) (A UB)=(A!NB)
(¢ (AUB)-(ANDB)

@ ((A'UB)Y-(A'NB)
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SRCY-S-ADN

It n e N &, a 121" — 25" + 1900" — (= 4)"

freafafaa & o frmd frsa 2 2
(a) 1904
(b) 2000
(¢) 2002
(d) 2006

& n=(2017)! B, @I

1 1 1 1
+ + et —————
log2 n log3 n log4 n log2017 n
foreres SR & 2
(a) O
by 3
n
(e) E
(d n

(1+x)B % T8 H, Ife @r + 19 31 (¢ + 2)&
UGl % U SKISK B, @ r(r# 1) B WE w
272

(a) 5

(b) 14
() 21
(d) 22

(-1- )W i= "1 %, & J&T HIUiH 1
22

(a) m/4
(b) ~—mfa
(¢) —3nfd
(d) 3m/4

AH SN o 3R B adfass @ & 3 2w
gy g9e 8 l?lﬁz2+az+|3zoa-?Re(z)=1
& a1y g Tz sraredfas qo &, @ 98 oravaw
2fH

@)y Be (-1,0)

(b) |1B] =1
(e) BE (1, o)
(d Be(0,1)

ﬁHFﬁﬁQAaﬂIB,X%WﬁaﬁI
C=(ANB)U @A NB) R, & A 3R B
FHHI: AAR B, XH T & | C formss st
22 |

(@ (AUB)—(ANB)
) (A’'UB)—(A’ N B)
© (AUB)—(ANB)

d A'UBY-(A'NB)
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7. How many numbers between 100 and 1000 |10.
can be formed with the digits 5, 6, 7,8, 9, if
the repetition of digits is not allowed i Sl
(a) 8°
) 5
(c) 120
(d) 60

8. The number of non-zero integral solutions of s
the equation |1-2{|%=5" is
(a) Zero (No solution)

(b) One
(¢) Two
(d) Three

9. If the ratio of AM to GM of two positive 12,
numbers a and bis 5 : 3, then a : b is
equal to
(a) 8:5
(b) * 2:9
() 931
(d 5:3

SIR;CY-S—ADN | (4-A)

If the coefficients of a™ and a® in- the
expansion of (1 + a)™" are o and B, then

which one of the following is correct ?

(a) a=2pB
(b) a=p
() 2a=f

(d o=(m+n)p

If x + 103’15(1 +_3x) = X 10g155 + 10815 12,

where x is an integer, then what is x equal to ?

(a) =3
(b)y 2
(¢ 1
d "3

How many four-digit numbers divisible by

10 can be formed using 1, 5, 0, 6, 7 without

repetition of digits ?
(a) 24
(b) 36
(c) 44
(d 64
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SRCY-S-ADN

100 3T 1000 % 1=, 37l 5, 6, 7, 8, 9 U foraet
HEATY 5 "ol &, AfG 3Tehi ! gAUf &l
Y ?

(a) 85

(b) 53
(e) 120

60

GHIRT |1 - 2i|* = 5* % I qUIHI gt
e et § 2

(a) T (HIS A a)
(b) TH
(c) ?ﬁ

(@ o

afg q uTeTsh TEa a 3 b F AM (FHIR

mﬁﬂ)ﬁGM(jUﬁ?RﬂTW)%‘rW 5:3%,
@ a: b foFaP =X B 2

(a) 3:5
(b) 2:9
(e) -9:1

(d 5:3

10. A (1 + ™" F TR § 2™ 3R 2" & o

11,

12,

o« 3 B &, o Fforfed § @ S o R 2

(a) a=2B

(b) wa=p

) 20=p

d a=(m+n)

Ife x + logqs (1 + 3% =x log,; 5 + log, 12, &

x Teh qUTieh 8, o1 x fohdeh sem & 2

EONNC
(b) 2
¢ 1
(d 3

ﬁ@rgwq%%qﬁm 1, 5, 0, 6, 7 T TN
Feh 10 ¥ fawfoa g9 arefl = o7t 61 frah

HEATd ST ST Hehell § 2
(a) 24
(b) 36
B
d 64

@ Teachingninja.in



Consider the information given below and|16.
answer the two items (02) that follow :
In a class, 54 students are good in Hindi only,
63 students are good in Mathematics only and
41 students are good in English only. There
are 18 students who are good in both Hindi
and Mathematics. 10 students are good in all
three subjects. :
13. . What is the number of students who are good
in either Hindi or Mathematics but not in
English ?
(a) 99 17.
(b) 107
(c) 125
(d) 130
14. What is the number of students who are good
in Hindi and Mathematics but not in English ?
(a) 18
(b) 12
(© - 10
d 8 18.
15. If o and B are different complex numbers with
|| = 1, then what is |[—— b equal to ?
1-of '
(a) |B]
(h) 2
i N
d O
SRCY-S-ADN (6-A)

The equation |1-x| +x%>=5 has
(a) arational root and an irrational root
(b) two rational roots

(¢) two irrational roots

no real roots

(d)

The binary number expression of the decimal

number 31 is

(a) 1111

(b) 10111
(et s 11011
(d 11111

What is 71000 4 ;1001 . ;1002 , ;1003 equal to
(where i= /—-1)?

(a) 0
) i
(e i
d 1
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71 g 7F guEr a¥ faem it sfiv st e 16| 16,
ﬁ(ﬂz)mﬁ%ﬁ?a?ﬁw:
Th He H, 54 B had g4 H B 8,
63 BT hadl TG H 3T=D & N 41 BF Shad
IS § 3=’ B | 18 B WH B oI fe=t ok
| g4 H 3 B | 10 o a0 fowwl #
IS |

13. UH o= & g fhadl 8 s oo a1 &= =

e 3 e # e sii o T 2 2
(@) 99 ’ o
(b) 107
(© 125
(d 130

14. W i B ge R € S e ok e

31D & iR ST | 3T &1 8 2

(a) 18

(b) 12

() 10

d 8

18.

15. 3fe o 3 p Pefm oy gemt € v

la| =18, @ 1“_‘0% foFErp aTeR 2 9

(a) |B]

(b) 2

() 1

d o
SRCY-S-ADN i (7=A)

iRl [1-x | +x2=5 % &

(a) Ueh IR o 3T T i qo
(b) g ufeR g

(c) T TURHT goT

(@ ig Wt arfaes gor TE

TYIMGE @ 31 & fgengl T =i

(eafeafed) 8

(a) 1111

(b) 10111
(e) 11011
(d) 11111

ilOOO + ilOUl + 1:1002 + Z:1003 ‘Fq;g% T %

(Sl i= J-1) %2

| (a) 0
(b) i
€y =i
.1
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19.

20.

21.

SRCY-S-ADN

What s
1 1 1 1
+ + 1 N + e 'l—-———N
log2 N log3 N g, 08100

equal to(N#1)?

1}

(a) ——m—
103100! N

1

b e TR,

o0 loggq! N
99

(c) —_—
10g100! N

99

d .
& lngg91 N

The modulus-amplitude form of J§ + 1, where

L= =1 is

(a) 2

(b) 2

(e 4

d 4

‘What fs the number of non-zero terms in the

expansion of (1 + 248 )1 + (1 — 243 x)1
(after simplification) ?

(a) 4
(b) 5
() 6
d 11

22.

23.

24.

(8-A)

What is ‘the greatest integer among the
following by which the number 5%+ 7° is
divisible ?

.(a) 6
(b 8
(e) 11
(d) 12

If x=1-y+y?—y>+.. up to infinite terms,

where |y| <1, then  which one of the
following is correct ?
(a) == 1
1+y
(b X —
1-y
(e} =x= =\
1+y
(d) . €% Y
=y

What is the inverse of the matrix

cos 0 sin 0
A=|-sin® cos6 Of?
0 0 1,
cosf) —sin® O
(a) sin ¢ cos 0 0
0 0 1
‘cos® 0 -—sin®
(b) 0 1 0
sin® 0 cosO
1 @ D
(c) 0 cosO —sind
LO sin 0 cos 0 |
cos 0 sinf 0
(d) —-sinth cosB O
g 0 g
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19.

1 1 1 1
- + +lt—
lcrg2 N log3 N log, N log100 N

foreeh SE R, (N2 1) ?

99
(c) -
10g100! N

99

d
) loggg' N

20. 3 +i, @ i=,—1 R, H HUH-TEH €9 &
(a) 2(cos£+zs'1n —]
3 3
(b) 2[cosE+isin—J
6
(c) 4[005 X tisin E}
3 3
(d) 4[(:03 — +1sin %J
2L (1+2V3x0M +(1-2/3x!"% AR § IR
TGl 6T T TRt 8 (Selie % w1g) 2
(a) 4
(b) 5
() 6
(d 11
SRCY-S-ADN

22,

23.

24.

(9-A)

ﬁm%%aﬁ@raﬁ:r-maﬁﬂ%ﬂn@ﬁm%ﬁﬂ
e 5° + 7° favrsg 2 2

(a) 6
(b)y 8
(e) 11
(d) 12

?Tﬁx=1,—y+y2—y3+...3ﬁﬁq_fﬁﬂ$,3ﬁ
ly| <18, @ Fr=fafad ° & S o 8 2

1
i) X=1+y
(b) x:ﬁ
5 le-{y
(d) le_f;f
SR
cos 0 sin 0
A= |-sin® cos® o}wuﬁﬁnw%?
0
cos® -—sin® O
(a) sin 6 cos 6 0
| 0 0 1
cosO 0 -—sinb
(b) 0 1 0
sinf® 0 cos 0
1 0 0
(c) 0 cos® —sinb
0O sin® cos 0
cos O sing 0
(d) —sin® cos® O
0 0 1
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25.

26.

27.

SRCY-S-ADN

(b)

If Ais a 2 x 3 matrix and ABis a2 x5 matrix,
then B must be a :

(a)

3 X b matrix
5 x 3 matrix
(¢) 3 x2matrix

(d)

5 x 2 matrix

1 2
IfA=[ JandAz—kA-—Izzo,wherelz
2 8 _

is the 2 x 2 identity matrix, then what is the

value of k ?
(a). 4

(b) -4
() 8

d -8

What is the number of triangles that can be

formed by choosing the vertices from a set of

12 points in a plane, seven of which lie on the |

same straight line ? ‘
(a) 185
(b) 175
(c) 115

(d) 105

28.

29‘

30.

(10-A)

What is C(n, r) + 2C(n, r — 1) + C(n, r — 2)
equal to ? : '

(a) Cn+1,r)
(b) Cn-1,r+1)
(¢ Cln,r+1)

(d Chn+2r)

Let [x] denote the greatest integer function.
What is the number of solutions of the
equation %2 — 4x + [x] = 0 in the interval
[0, 2] ?

(a)

Zero (No solution)

(b) One
(¢) Two
(d) Three

A survey of 850 students in a University yields
that 680 students like music and 215 like
dance. What is the least number of students

who like both music and dance ?

(a) 40
(b) 45
(¢) o0

(d) 55
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25. aﬁA@zxawéaﬁtABnﬁszng-
AR B, O B 3E¥ & 21 =Ry
(a) 38 x5 3IqE |
W 5 x 3 TR
() 3x23ATYg
(d) 5 x 2 R
26. H%A:[; i]aﬁ'{Az—kA_I2=0%,G|ﬁ29.
Iy, 2 x 2 TCHHS TR B, O k T T 41 8 ?
(a) 4
(b) -4
() 8
(d -8
30.
27. U wHAA § 12 fagett % v vy d, S |
7o @ @ W @ W e E, @ i fag
TR S ST aTel Fysi <At g = g 2
(a) 185
(b) 175
© 115
d 105
SRCY-S-ADN (A =)

Cn, r) + 2Cn, r — 1) + C(n, r — 2) forgeh s

2?2

(a) Cn+1,r)

(b) Cn-1,r+1)

(¢c) C,r+1)

(d Cn+2r)

A I [x] TE0H QUi %o i Eifdd shidr
® | 37U [0, 2] H THiRT x2 —4x + [x] =0
gl <1 e ferat & 2
(a) I (HE A )

(b) T

()
(d) a9

s favafaame™ 4 850 o= % U gagor § 78
ww%asowwﬂaﬁﬁr@%%aﬂ?
215 BF T H | 3T ST 1 JAaw HEA ferer

2 S Gt o e AN o T § 2
(a) 4Q
(b) 45
(¢) 50
(d) 55
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31. What is the sum of all two-digit numbers 35.
which when divided by 3 leave 2 as
the remainder ?
(a) 1565
(b) 1585
() 1635
(d) 1655
32. If 0 < a < 1, the value of log,,a is negative.
This is justified by |
(a) Negative power of 10 is less than 1
(b) Negative power of 10 is between 0'and 1 | 36.
"(¢) Negative power of 10 is positive |
(d) Negative power of 10 is negative
33. The third term of a GP is 3. What is the
product of the first five terms ?
(a) 216
(b) 226
(c) 243
(d) Cannot be determined due to
insufficient data
317.
34. If %, 3/2, z are in AP; x, 3, z are in GP; then
which one of the following will be in HP ?
(a) x,6,z
(b) x,4,z
€ x22z
d x1,z
SRCY-S-ADN (12-A)

What is the value of the sum
11

Z(in +i"*1), where i= =12

(b) 2
(¢) -—-2i

d 1+

T
,where 0 < x < —,
2

If sin x = i siny'-L
V5’ J10

O<y< %, then what is (x + y) equal to ?

(a) =
(b) =/2
() m/4
(d 0

sin bx — sin 3x
cos 5x + cos 3x

What is equal to ?

(a) sinx
(b) cosx
(c) tanx
(d) cotx
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31, @ el aret Weh @t TEne @ ATEe = @ , 11 ]
firet 38 frfire F0 W Awee 2o R 2 |20 WZ(!’“”“”),Whﬁ%,w
n=2

(a) 1565
(b) 1585 M T8 ?
(¢} 1635
(a) 1
(d) 1655
(b) 2
32. AR 0<a<18,d logyya H AH FOMHS & | © —2
Ig TehETd g FIfeh
d) 1+:
(a) 107kl RUTcH o1d 19 FH 8
(b) 10 h UTTeH 9Td 03N 16 i | &
(c) 10 RUTCHE | THTHS & 36. 'ﬂﬁsinx=—j’—g,siny=%,ﬁ'ﬁ0<x<£,
@ 10 I T FIMAS 0 L g 2, A (x+y) Fros s R 0

83. foreft iR Aoft (GP) @1 ffEw g 3 @ | FEeh (@ =

T Yie UG| ohl TUHhET T B ?
(b) /2
(a) 216
(b) 226 (c) m/4
(ec) 243 @ 0
(d) =9t &d % sro Fyifa T8 e S
Gehdl

' sin 5% — sin 3x
) ol 37. foreer SR 2 2
34, 4R x, 3/2, z @A At (AP) ¥ &; x, 3, 2 TUIRH ~ cos 5x + cos 3x %

ot (Gp) & §; A FreRen § ¥ W wE

Foensh Aoft (HP) g 2 (@) snx
(a) x,6,2z (b) cosx
W med, (¢) tanx
(6) 2%
d
@ x1,2 T
SRCY-S-ADN (13-A)
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38. Whatis sin 105° + cos 105° etjual to? 41.
(zz;) sin 50°
(b) cos_ 50"
© 142
@d@ o
39. In a triangle ABC if a=2 b=3 and
sin A = 2/3, then'what is angle B equal to ?
(a) m/4
(b) 7/2 42,
() n/3
(d n/6
40. What is the principal value of
sin'.1 (sin ‘—‘ZE] ?
3
(a) m/4
(b) /2
() =/3
(d) 2n/3
SRCY-S-ADN (14-A)

If x, x —y and x + y are the angles of a triangle

(not an equilateral triangle) such that
tan (x — y), tan x and tan (x + 5?) are in GP,

then what is x equal to ?

(a) /4
(b) #/3
() /6
d) =/2

ABC is a triangle inscribed in a circle with

centre O. Let o = £ BAC, where 45° < o < 90°.

Let p = £ BOC. Which one of the following is

correct ?

fary 2
(a) cosP= - tan2 %
1+ tan®a

2
e e 1+ ’mn2 o
l1-tan®a

(" “cod Bie Ztan;x
1+ tan“a

(d) sinP=2sin?a
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38. sin 105° + cos 105° forTeh sTe & ? 41.
(a) sin50°
(b) cos 50"3
© 1A2
d o0
39. Tk Biyst ABC H, afg a =2 b=3 3K
sin A = 2/3 8, a1 01 B fohah seR 2 2
(a) n/4
® w2 =
(¢ =/3
(d /6
40. sin (sin %) T T T 1R ?
(a) w/4
(h) w/2
(¢ w3
(d 2n/3
SRCY-S-ADN (15-A)

afe wF By (S wwemg Bigs Td R) % 0
x,x—y@?x+y$ﬂwgﬁtan(x—y),
tan x 3R tan(x+y)§“ﬁ?l'{aUﬁ(GP)ﬁ%,Fﬁx
fopereh et B 2 ‘

(a) m/4
(b) /3
(¢) /6
(d n/2

%z fog O a1 T g9 & HFAaa TH S

ABC ® | A9 AT o = ~ BAC, &l
45° < . < 90° 3 | WH fS T p = ~ BOC & |
fafafaa 7 9 AT gt 2 2
1-tan? o
(a)  cosP= - ——75—
b 1+ tan? «
B . cospie 1+tan;u
1-tan“a
2tana
(c) cos P =
P 1+ tan? a
(d) sinp =2 sin?«
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43.

44,

45.

SRCY-S-ADN

If a flag-staff of 6 m height placed on the top of
a tower throws a shadow of 23 m along the

ground, then what is the angle that the sun
makes with the ground ?

(a) 60°
(b)

(e) 30°

45°

(d)i: v 19°

What is tan! [i] + tan™1 [%) equal to ?

(a) O
(b) m/4
() n/3

d) n/2

A spherical balloon of radius r subtends an
angle o at the eye of an observer, while the
angle of elevation of its centre is 3. What is the
height of the centre of the balloon (neglecting
the height of the observer) ?

fsinB

; (a]

sin | —
2

rsin

(a)

(b)

ml’
5
e
R
N

o)

r sin
sin o

AT
N

(¢ .

T sin o

m

(d)

47.

48.

(16-A)

If S'ln(x+y):a+b, then what is tanx
sin(x-y) a-b ‘ tany
equal to ?
a
(a) E
by
a
a+b
© a—b
a—h
d
@ a+b

If sino + sin f = 0 = cos o + cos 3, where

0 <f <o < 2m, then which one of the following

is correct ?
(a) a=n-PB
(b) oa=m+pB

Suppose cos A is given. If only one value of

coS [%J is possible, then A must be

(a) An odd multiple of 90°

(b) A multiple of 90°
(c)  An odd multiple of 180°

(d) A multiple of 180°
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43. 32 ol HiAwr (far) o 3 T Tonfid & 6 m sin(x+y) a+b ~  tanx
: . . 46. AR = 2, dl
I 9 ®h 9Uad W 2/3 m A« DR gSdl sin(x—y) a-b tany
2, @ g % gUde % A1y S G B0 B A R 8 2
T 8 2
y ) =
(a) 60° b
(b) 45°
(b) b
) 30° %
)  18° © a+b
: a—-b
44. tan™! /3 +tan™! [i]ﬁmﬁam%? a-b
4 5 (d)
, a+b
(a) O
(b) /4
)~ w3 47.Q'Fq'sina+sin[3=0=cosa+cosﬁﬁﬁ
: 0<B<o<2rg, d F=fafeas ¥ @ S g
d n/2 87 :
45, 1 e 9Ten U MR e, foREt daeh whi vl Thiap
HAG Y H o ARG Hal B, & Eh R
FGIg H1 IIA BT B | [N 6 hegleg
ﬁﬁéw%(ﬁ%ﬁialgaﬁwiﬂaﬁ.l () o=2n-Pp
L gY) ?
(d 20=m+2B
(2) rsin [}
sin[c—l-)
L2
(b) r sin f3 48. WH ST cos A féam mar 2 | 9fd cos [%] Rl
sin(:} . %9d T & I S, @ A B S =R
- (a) 90° 1 Th forsm Ui
rsin(;]
IS (b) 90° %I T T[UT
(d) rsin o e) ISOOWWWW
sin(EJ (d) 180° 1 T U
SRCY-S-ADN (17—
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49,

50.

SRCY-S-ADN

If coso+cosf +cosy=0, where 0 < o < %,

0<Bs %, O0<y< g, then what is the value of

sin o + sin f + siny ?
(a) O

(b) 3

() —

(d) “s=—

The maximum value of
sin [x + E) + cos (x + EJ , wherex e (0, E] :
5 5 2

is attained at

(a)
b) —
(¢) —

(d)

b=

51.

52.

53.

(18-A)

What is the distance between the points which

divide the line segment joining (4, 3) and (5, 7)
internally and externally in the ratio 2 : 3 ?

12417
5

1317

5
J17
5

(a)

(b)
(c)
@) —6‘/5ﬁ

What is the angle between the straight

lines (m? - mn) y = (mn + n?) x + n® and
(mn +m?) y = (mn —n?) x + m3, where m >n ?
(A" tan~1 %
: m- +n
f 2.9
(b)Y Yans 4m‘n”
m —n"
2.2
(¢c) tan! %
m~ +n
(d) 45°

What is the equation of the straight line
cutting off an intercept 2 from the negative
direction of y-axis and inclined at 30° with the
positive direction of x-axis ?

(a) x-2/8y-342 =0
b x+23y-342 =0
() =x+ J§y—2\/§=0

(d x-+83y-243 =0
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49, If¢ cos o+ cos P + cosy =0, & 0 < a <

T

2,
T T

pepEl, Doyt K o

<pB 5 <Yy 2%

sino +sin B +siny T HE T8 ?

(a) O

(b) 3
572

(C) T
3v2

50. sin (x+g]+cos (x-k%),\_rlﬁxe[ﬂ, g-]%,
1 STfrhay T YT BT &
'
— W
(a) 50
B o
(b) 7= B
A
il
(e) 10
(d) gtR
SRCY-S-ADN

51.

52.

53.

(19-A)

3 forgatl & sftar o gt w1 8 S (4, 3) IR
(5, 7) %! ST AT {WTES HI AR 3R A
FT Y 2:3% T # fawnfom o & 2

12417
5

13417
5

(a)

(b)
J17
(€ —
5
g S
5
W @ri (m? - mn) y = (mn +n?) x + n 3R

(mn+m2)y:(mn-n2)x+m3,3ﬁm>n%,

& = T BT TR 2

(a) tan! 2mn2
m“ +n
4m?n?

(b) tan!

m?* —n?

(¢) tan’! 41:12n24
m-* +n

(d) 45°

3W WA W HT GHRT = R S y-3Ae SRl
FUMCHS fe¥m ¥ 2 &1 ITA:@S Hedl g, 3K
x-318 I oS fomm % WA 30° W FH S
20

(a) x-24/3y-32 =0
(b) x+2v/3y-3v2 =0
(0 x++3y-243=0"
d x-V3y-243 =0
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54. What is the equation of the line passing |56.
through the point of intersection of the lines
X+ 2y—-3=0and 2x —y + 5 = 0 and parallel
“totheline y—x+10=07?
(a) Tx—-Ty+18=0
(b) b5x—-Ty+18=0
(c) b5x—5y+18=0
- (d) x-y+5=0
55. Consider the following statements :
1. The length p of the perpendicular from
the origin to the line ax + by = ¢ satisfies
2
the relation p? = :
a? +b?
2. The length p of the perpendicular from
the origin to the line g + % =1
satisfies the relation —12— = iz + —12—
p a b
57.
3. The length p of the perpendicular from
the origin to the line y = mx + ¢ satisfies
2 2
the relation iz = lﬂﬁn%
P c
Which of the above is/are correct ?
(a) 1,2and 3
(b) 1only
(¢) 1and 2 only
(d) 2only
SRCY-S-ADN (20-A)

What is the equation of the ellipse whose

vertices are (+ 5, 0) and foci are at (+ 4, 0) ?

2 2
(@) e el
25 9
2 .
T
b — 4+ = =1
W e,

: 2 2
X% o8
= €™

T
2 2
b0 g gy
9 ' 25

What is the equation of the straight line
passing through the point (2, 3) and making
an intercept on the positive y-axis equal to

twice its intercept on the positive x-axis ?
(a) 2x+y=5
(b) 2x+y=7
(e) x+2y=7

(d 2x-y=1
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54, 3@ @ w1 W w2 S @i
X+2y—3=03:ﬁ'{2x—y+5=0%31ﬁ|ﬁ33ﬁ—_g
Q'WW%WWy—X+IO=O%
AT B 2
(@ Tx-Ty+18=0
(b) Bx—-Ty+18=0
() 5x-5y+18=0
(d) x-y+5=0

55. fr=feafgd et @ famm Fifde .

i B qaﬁ?gi?hm wc+bj=(:mlﬁﬁ?ﬁ
Wp,ﬁa.ap2=2zza’ﬁw

a“+b

AR |
| 3 _

2. WA-frg @ @ ~#i=1 W 7§
o powiy L -1 1 o §ge

p2 a2 b2

EGI |

3. I@—ﬁ%ﬁi@y:m+cq‘(ﬁﬂaﬁ_wﬁm§

o 1 T4#m?+es :
p, HEY — ==———— I HEC HLl
p c

3

Suderd § @ HiA-E/d wE 2/ 9

(a) 1,233

(b) haet 1

(¢) ©hael 13 2

(d) hae 2

SRCY-S-ADN

s )

34 e 1 wftertor = ® s o 5, 0)
2 3 fmT (24,00 E 2

2 2

(a) %Jr%ﬂ
2 2

(b) §g+§%~=1
2 2

(0 — + 2@
25 = 18
2 2

N —— + L =1
9 ' 25

57. 3H W W@ S O 1§ S g (2, 8) @

AR TRl B, SR UATCHS o318 W IHeT
AT, YACHS x-318 W Ik IIAEE
T ST § ?
(a) 2x+y=5
(b) 2x+y=7

@ X+2y=17

d 2x-y=1
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58.

59.

. 60.

SRCY-S-ADN

Let the coordinates of the points A, B, C be
(1, 8,4), (0,-11, 4) and (2, — 3, 1) respectively.
What are the coordinates of the point D which
is the foot of the perpendicular from A on BC ?
(a) (3,4,-2)
(b) 4,-2,5)
d (2,4,5)

What is the

through the points (-2, 6, —6), (-3, 10, —9)
and (- 5, 0, - 6) ?

equation of the plane passing

(a)‘ 2x —y—2z=2
(b) 2x+y+3z=3
() xX+y+z=6

d x-y-z=3

A sphere of constant radius r through the

origin intersects the coordinate axes in A, B

~and C. What is the locus of the centroid of the

triangle ABC ?
(a) x%+ y2 + .22 =r?
(b) x%+y%+12%=4r2

(€)  9(xZ%+y2+22)=4r2

(d)  3(x2+v%+2%)=2r7

61.

62.

63.

(22_A)

The coordinates of the vertices P, Q and R of a
triangle PQR are (1, -1, 1), (3, =2, 2)
(0, 2, 6) respectively. If £ RQP = 6, then what
is £ PRQ equal to ?

and

(a) 30°+6
(b) 45°-0
(c) 66" -0
(d 90°-06

The perpendiculars that fall from any point of

" the straight line 2x + 11y = 5 upon the two

straight lines 24x + 7y = 20 and 4x — 3y = 2

are

(a) 12 and 4 respectively
(b) 11 and 5 respectively
(c) Equal to each other

(d) Not equal to each other

The equatibn of the line, when the poftion of it

intercepted between the axes is divided by the

point (2, 3) in the ratio of 3 : 2, is

(a) Either x+y=4 or 9%x+y=12
(b) Either x+y=5 or 4x + 9y =30
(c) Either x+y=4 or x + 9y =12

(d) Either x+y=5 or 9x + 4y = 30
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58, W ofifre frgat A, B 3R © ¥ i

59.

60.

' SRCY-S-ADN (83—A)

(1, 8,4), (0, - 11, 4) 3R (2, -3, D | 34 forg
D fAderss #m & St A® BC W Te9Tg 2

(@) (3,4,-2)
(b) (4,-2,5)
() (4,5,-2)

(d (2,4,5)

fagati (-2,6,-6), (-3,10,-9) 3R
(- 5,0, — 6) ¥ BIR oA ATl THASA

Rt T B 2

(a) 2x-y-2z=2
(b) 2x+y+3z=3
() x+y+z=6

d =x-y-z=3

ol-forg | B oA a1en FRa (s1R) B
r o1 T el e 3181 i A, B 31 C W
Wedl ¢ | S ABC % S5 o1 foguyl &
27

2 2 2

(@) x2+y?+z2=r
M) - x2+y2+ 22 = 4r?
(€) 9 (x*+y?+2%) =4r?

(d 3%+ y2 + z2) = 2r2

61.

62.

63.

wh s PQR & 3Wi P, Q 3 R & dwie
U (1, -1, 1), (3,-2,2) 3 (0,2,6)3 | I
Z/RQP =08, @ « PRQ ferteh s 8 2

(a) 30°+6
(b) 45°-8
() 60°—8
(d)  90°-0

oA Wl 2x + 11y = 5 % foredt off fog &, @

. B {13 24x + Ty = 20 3N 4x — 3y = 2 T
g A1l @l ohl TIgAl 8

(a) SHHY: 1231 4

(b) SHEET: 113TR 5

(c) UH-GH o T

(d) UThH-ga o S T&l

39 @1 F1 grfieRr 1 @ orenr v & i o
Ha:@fed 3w, g (2,3) % g0 3: 2% U
¥ favfor grar 8 2

(a) MW x+y=43 9x +y=12
(b) A x+y=5T dx + 9y = 30
(¢) AMAN x+y=491 x+ 9y =12

(d) I x+y=53 9x +4y =30
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~ 65.

64. What is the distance between the straight |67.
lines 3x +4y =9 and 6x+8y=15?
(a) 3/2
(b)  3/10
(@) -6
(d 5
What is the equation to the sphere whose
centre is at (— 2, 3, 4) and radius is 6 units ? 68.
(a) x2+y2+z2+4x—6y—8_z=7
) x2+y?*+2z°2+6x—4y—-8z="7
(¢ x2+y2+2z°+4x—6y—8z=4
(d x2+y2+z22+4x+6y+8z=4
- ' = ' =
66. If a and b are vectors such that | a | =2,
O — — A A A
| b|=7and a x b =81 +2j +6k, then
' > - 69.
what is the acute angle between a and b ?
(a) 30°
(b)  45°
(c) 60°
(d) 90°
SRCY-S-ADN (24 -A)

> — PR
Let p and q- be the position vectors of the

points P and Q respectively with respect ‘to
origin O. The points R and S divide PQ
internally and externally respectively in the

R =
ratio 2 : 3. If OR and OS are perpendicular,
then which one of the following is correct ?

(a) 9p?=4q>
(b) 4p?=9q?
(c) 9p=4q
(d) 4p=9q

What is the moment about the point

A A A A A
i +2j — k of a force represented by 31 + k
A A A
acting through the point 21 — j +3k ?
A A A
(a) -31+11j +9k

A A A
(b) 3i+2j +9k

K A A A
() 3i+4j+9k

A
1

>

A
+j+

2y — L T
If a+2b+3c¢c =0 and

-5 = = e =
a x:b -+ bhixe ¥ € X ‘a

then what is the value of A ?

- -
=A(b x ¢

),

(a) 2
(b) 3
(¢) 4
(d 6

@ Teachingninja.in



64, T @I 3x +4y =9 IR 6x+8y=15%%

e 61 gt T @ 2
(a) 38/2

(b) 3/10

() 6

@ 5

mﬁ@r-aﬂmﬂww%ﬁaaﬂ%(—z,&@

65.
T g R B 6 g 8 2
(@) x2+y°+z°+4x-6y—8z="7
(b) x2+y2+z2+6x~4y—82=7
(0 x2+y2+2z2+4x—-6y—-8z=4
(d) x2+y2+z2+‘4x+76y+8z=4
66. I 4 W b WAWER |a| =2
|3|=73ﬂt§x3}=3?+23+6fg%,a‘r
P & offel 1 =R T 2 ?
(a) 30°
(b) 45°
(c) 60°
(d 90°
SRCY-S-ADN

67.

68.

69.

(25—A)

T g qa-fag 0 % wmE, fagat p et
¥ feufy aftw saw: p ol g # | fg R ¥R
S, PQ ! 31aieh 3R &1 €9 & U 2:3 %
v # frfm w@ § 1 A OR ¥w-08
WoR e &, df F=fafes § @ sear ad ' 2

(b) 4p?=9q¢>
(c) 9p=4q
(d 4p=9q

31 + k & Frefiq s@, S fig 21 - § +3k @
FRa B, G 1+ 2] — k % 18 st @@
27

‘ )" A A- A
(a) —-31+11j +9k

A A N
(b) 3i+2j +9k
A

A A
(¢0 3i+4j+9k

A A A
(d) i+j+k

— e d > —
I a +2b +3 ¢ = 0 3N
- > ~> — -

C

axhb+bxc¢ +

2, d AT g9 &7 8 2

(a) 2
(b) 3
() 4
(d 6
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=2 g7 . 73.
70. If the vectors k and A are parallel to each
-5 =
other, then whatis kk x A equal to ?
_._}
(@ k%A
25
(b) O
-3
(@) kA
_)
d A
71. Which one -of the following is correct in |74,
respect of the function f: R — R' defined as
fx)= ix +1|?
(@) f(x?) = [f(x)]2
(b) fl|x|)= |fix)]
() flx+y) =1fx+1y)
(d) None of the above
72. Suppose f: R — R is defined by 75
2 .
flx) = —= = What is the range of the
1+x :
function ?
(a) [0, 1)
(b) [0,1]
(e (0,1]
(d) (0,1)
SRCY-S-ADN (26-A)

If fix)= |x| + |x— 1], then which one of the
following is correct ?

(a) f{x)iscontinuous atx=0andx=1

(b) f(x) is continuous at x = 0 but not at
x=1
(¢) flx) is continuous at x = 1 but not at

x=0

(d) f(x) is neither continuous at x = 0 nor at

=1

Consider the function

x’In|x| x=#0
fix)e= .
0 x=0
What is f'(0) equal to ?
) 0
(b) 1
() -1

(d) It does not exist

What is the area of the region bounded by the

parabolas y2 = 6 (x — 1) and y2 =g

J6
(a) ?

2/6
3

46

3

5.6
3

(b)

(c)

(d)
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70. IR GRW & N A UhgE % wwiw &, @r| 73 I = x| + [x - 1] B, @ Pl & |

Kk x A Thu% sUeTR ? P R 2
(a) fix), x=03N x=1W Hdd &
—>
2 . -
ke (b) f(x), x=0R d Had &, cAfehd x = 1 T T&
® 0 © fx), x=1T aq Fad 2, AHT x = 0T T&F
5 @ fx), T x=0WHATE3M I & x=1W
0 -k2A
—3
U 74. %o
x> In|x| x=#0
f(x) = W fa=m Hifsw |
: + - . 4 x=0
71. ®ad f: R— R, 5@ fix) = |x + 1| % §A oy PSS -
gfeqfya 2, & el o f=fafea & @ s=a
TE B 7 | (@) 0
. ; ¥y 1
(a) f(x?) = [f(x)]?
e -1

(b) fi|x|)=|flx)]
(d) 3R Afeaed T8l 8
() flx+y)=1flx)+f(y)

(d) I9FH H § FIg TaI _
75. y2 = 6 (x - 1) 3 y2 = 3x g1 qR=Ig &=
2 & SABA TR 7
72. WM #ifSQ f R—:.R,ftx):lx > % g
+X
qieiya B | 38 w1 9RER (1) 08 2 (a) ?
(a) [0,1)
s i 28
3
(b) [0, 1]
_ 4/6
: () ——
© (0,1 3
@ (0,1 @ 56
3
SRCY-S-ADN (27 =)
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Consider the following information for the
next three (03) items that follow :

Three sides of a trapezium are each equal to

6 cm. Let o e [0, g] be the angle between a

pair of adjacent sides.

76. If the area of the trapezium is the maximum
possible, then what is o equal to ?

T
(a) ‘6"

(b)

g

(c)

w|a

80.

(d) =

77. If the area of the trapezium is maximum,
what is the length of the fourth side ?

(a) 8cm
(b) 9cem
(¢) 10cm

. (d) 12cm 81.

78. Whé.t is the maximum area of the trapezium ?
(a) 363 cm?
(b) 3043 cm?
(c) 273 cm?

(d 2443 cm?

SRCY-S-ADN (28-A)

T

79. What is J. e* sin x dx equal to ?

0

e” +1
(a) 5

e -1
b
(b) 5
() e" +1

e +1
d
(d) 7

x2 -9
If f(x) = Ny X% 3 is continuous at
x“-2x-3 :
x = 3, then which one of the following is
" correct ?

(@ fi3)=0
(b) f(3)=15
(e)s- fi3)=3
(d f8)=-15

e

What is j‘ xInxdx equalto?

(a)

(b)

(c)
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AT T qre /i (03) TV & fore REforfaa

qawwﬁwaﬁﬁq

76.

717.

78.

SRCY-S-ADN

T U hl dH YA s 7 iR T ¥
Y% Wl AR 6em B | "W Afm
ae[o.g}dmgmaﬁ%@gm%aﬁaw
I 7 |

gfe grds ®1 SI%d GUIfad AR 8, @ «
forEer s B 2

(a)

2l
6

(b)

= | A

(c)

w3

d —

Ife GHATS H &G AfRad 7, a1 =iefl ys
<hl TS T B 2

(a) .8cm
(b) 9Y9cm
(c) 10 cm

(d 12cm

THES T AT B F 1R 2
(a) 363 cm?

(b) 303 cm?

(¢ 273 cm?

(d) 2443 cm?

79.

80.

81.

(29-A)

n
J.ex sin x dx, ToFEh SRR 2 -
0
e® 41
)
(a 5
= |
b
(b) 5
(e) e™ +1
e
@ e" +1
4
x% -9 D
Ife f(x):2_,mx¢3%,x=3vﬂ

X" —

2x -3

Had &, @t Fefafa 4 @ s ag 2 2

(a) f3)=0
(b)y f8)=15
(c) f(3)=3

(d f3)=-15

e

I xlnxdx,ﬁ?ﬂa?al'la(%?

e+1

(a) 1
(b) e2+1

: 4
: e—-1

)

(c 1
@) e? -1

4
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J2 85.
82. Whatis J. [x%l dx equal to (where [.] is the
) .
greatest integer function) ?
(@ V2 -1
M) 1=
© 2(2-1
d V3 -1
86.
83. What is the maximum value of
16 sin 6 — 12 sin® 6 ?
(a) 3/4
(b) 4/3
() 16/3
(d 4
84. If f:R— S defined by 87.
f(x) = 4 sin x — 3 cos x + 1 is onto, then what is
S equal to ?
(a) [-5,5]
() (-4,6)
(d) [-4,6]
SRCY-S-ADN (30-A)

For f to be a function, what is the domain of f,

if f(x) = ﬁ ?
(a) (=e0, 0)

) (0, )

() (—oo,00)

) (=, 0]

What is the solution of the differential

equationxdy—ydx=07?
(a) xy=c

(b) y=cx

() x+y=c

(d =x-y=c

What is the derivative of the funection

fix) = et X 4 I (sec x) —e"* at x = -} ?

(a) ef2

(b) e
(c) 2e
(d)  4e
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Jz 85. 3l fTH Bor &, dl £l Wid (SH4) =1 8 Afe
82. J‘[xz]dx,%a%arm%(aﬁ[.}umqyﬁﬁ fir)= —2 &7

|x|-x
i
Hdd 2
) (a) (=0, 0)
@) — /2 —1
() (0, )
b)) 1-+2
() (= oo, 00)
) 2(42 =1)
(dy +/8<=1

86. 37IHS THIHW xdy —ydx =0 T &F FT & ?
83. 16sin 0 — 12 sin?0 T AfHehdy I =T 8 2

(a) ¢ Qy's'c
(a) 3/4
(b)  4/3 W Ptk
(c) 16/3 ' () x+y=c
d 4 d x-y=c

i 87. o flx) = et X 4 [ (secx) — e XHT x = EW{

84, AfG f:R > S, T&N f(x) = 4 sin x — 3 cos x + 1, M E o

T=BIEH &, a1 S fopmes sen 8 2

(a) ef2

(a) [-5,5] /

®) (=5,5) (b) e

() (-4,6) (c) 2e

- @ e
SRCY-S-ADN [ 3=
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88. Which one of the following differential
equations has a periodic solution ? 1,
d’x
(a) +ux=0
dt?
d?x
(b) — NS 0
dg2:
dx
( — +ut=0
¢ X TR [
(d) (L +uxt =0
dt
where p > 0.
92.
89. What is the period of the function f(x) = sin x ?
(a) mf4
(b) /2
(¢) =@
(d) 2rm
90. Whatis oz equal to ?
2% -1
(a) m(2*-1D+c
93.
_9—X
b) In1-27%) et
In2
In@™* -1
(€) —— +c¢
2In 2
0—-X
) n(1+2 )+c
In 2
SRCY-S-ADN (32-A)

The order and degree of the differential

€a?

equation y?=4a(x-a), where ‘@’ is an

arbitrary constant, are respectively

(a) 1,2
()2
() 2,2
@ 1,1
nf4
What is the value of (sin x —tan x) dx ?

SN

(a) il ] + ln(i]

J2 2
1
(B s
J2
(@)D
@ 2
b b
If Ix3dx=0 wnd J.xzdx=§,then
a : a

what are the values of a and b respectively ?

(a) -1,1
(b}« 1,4
(0 0,0
@ 2,-2
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88. Frfiifian srdh Tl & & frew oTael| gy

B8 2

(a) ~§:—;{+ux=0
(b) i—:zf—uho
(c) xi—: +ut=0

(d) % +uxt=0

& u>0 % |

89, e flx) = sin x 1 STEdHI FIT & ?

(a) m/4
(b) m/2
() m
(d 2n

, Topues e B 2

so.jdx

(a) In(2*-1)+c

In(1-27%)
T

b
(k) In?2

n@2™*-1

© 2In2

In(1+27%)
— "4

(d) D

SRCY-S-ADN

92,

(33-A)

y2=4a(x—a),ﬁﬁ"a’@@%@ﬂ%, *
kel FHIRT HI Hife (A7) ot uma (feft)
A &

(a) 1,2
(b) 2,1 .
c) 2,2
d 1,1
nfd
J. (sin x — tan x) dx EF[TIH?FC{T%?
—nf4

(a) —% " ln(%]

i
(b) —
J2
| (¢ O
@ 2

b b
93. ﬂﬁjxshzoaﬂ'{szd};:g%,?ﬁ

aaﬁtab%atrmm:w %a?

(a) -1,1
(b) 1,1
() 0,0
d  2,-2
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97. If fx) is an even function, where fix) # 0, then

1
' hi Fikio followiniia dofreet 7
94. Whatis J. x(1-x)?dx equalto? which one of the following is ¢orrec
0

(a) f(x)is an even functiqn

1/110

ol / (b) f(x)is an odd function

(b) 1/132 A
(¢) f(x) may be an even or odd function

(¢) 1/148 depending on the type of function

(d)  1/240 ; (d) f'(x)isa constant function

2N : il :
L™ . ay &
85 % NThwbia - livo, t-anx eial’te 2 98. If y = e* sin 2x, then what is s atx=nm
x—0 sin 2x equal€o ?
2
(a) 1/2 Y o
by 1 9
(b) 2me™
() 2
. 2
(¢) 2e™
(d) Limit does not exist
@ &

| o J2x+8he./2

96. - Whatis lim il Vax equal to ? _ ‘
vl 2h - 99. What is the solution of

(1+2x)dy~(1-2y)dx=07?

(a) L
2/2x ;
(@) x-y-2xy=c
iy, e By |
2x (b) y-x-2xy=c
(c) 2 () y+x-2xy=c
2/2x
_ (d x+y+2xy=c
@)
42x
SRCY-S-ADN ' (34-A)
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1 i 97.ﬁﬁﬁx)@mtﬁﬂﬁ%,ﬁﬁﬂx)¢0%,ﬂ}

94, I x(1-x)?dx, TorEeh s & 2 Fafafas d @ s g8 2 2
0
(a) f'(x) 99 B &
(a) 1/110
(b) f'(x v\ w2
(b) 1/132
(¢) f'(x)E" a1 a9 B B Gehar B, S e
(¢ 1/148 & YHR T R e @
@ 1/240 (d) () Th 3T A

95. lim S2RX RerdaErd e

x—-0 sin 2
i e 98. aﬁy:exzsinzx%,a‘r%lw;;”qtm,
(a) 1/2 forash ST 2 2
(b) 1 (1 & ) ™
() 2 2
(b) 2me™
(d) i\ 1 31feaed T8l 8 5
(e) 2™
@ &

96. lim "2X+3h_‘/§,%a%arrat%?

h—0 2h
(a) .

22x 99. (1+2x)dy—(1—-2y)dx=0, % & T & ?
(b) B (a) x-y-2xy=c¢

J2x

3 (b)) y-x-2xy=c
(c)

2v2x

(c) y+x-2xy=c

@y —=2

4v2x - (d x+y+2xy=c

SRCY-S-ADN (35-A)
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100. What are the order and degree, respectively, of

the differential equation

2
d_g.}.t = y4 + [._q-z)s ?
ax® ) . dx .

(a) 4,5
(b); 11428 .
(e 3,2
(d 5,4

101. In a Binomial distribution, the mean is three
times its variance. What is the probability of
exactly 3 successes out of 5 trials ?

(a) 80/243
(b) 40/243
() 20/243
(d) 10/243
102. Consider the following statements :
1. P(AUB)=P(A)+P@®B)-P(A NB)
.2. P(ANB)=PB)-PANB)
3. P(ANB)=P®B)PA|B)
Which of the above statements are correct ?
(a) 1and2only
(b) 1and3only
(¢) 2and3only
(d) 1,2and38
SRCY-S-ADN (36

—AY

103.

104.

105.

If the correlation coefficient between x and y is
0-6, covariance is 27 and variance of y is 25,

then what is the variance of x ?

(a) 9/5
(b) 81/25
(e) 1. 9

(d) 81

The probabilities that a student will solve
Question A and Question B are 0'4 and 0-5
respectively. What is the probability that he

solves at least one of the two questions ?

(a) 06
(b) 07
() 08
(d) 09
Let X be the mean of x, x_é, Kasr aray, X0 IE

x; = a + cy; for some constants a and c, then

what will be the mean of y,, ¥y, ¥, --» ¥, ?

(a) a+cx
0 T
Cc
(c) liua
C
w 2=
C

@ Teachingninja.in



100, e FHIHW (d_SXT:y‘tJ,(ﬂJs, £|108 TR x Iy F = wEEEE TOE 06 2,

dx3 dx TEIET 27 8 3 y K YO 25 B, @ x
whife (ATET) 3 uma (ferft) s € 2 TET TR 2
(a) 4,5 (@ 9/5
bl 28 (b) 81/25
(e) 3,2
(c) 9
@ 5,4
(d) 81

101. U fgug sied #, wred, yawor 1 o A (fope)
| 5@ (W) § q Ih-IF 3 TR | 104, wer Rremefl g7 W9 A 3 I B R B A

ST Y ITlrehdt o= 8 2 &t TTReRaTd HH: 0-4 31K 0-5 8 | a1 TR
%%aﬁaﬁmﬂﬁﬁmﬁwwﬁg@w
(a) 80/243 i
(b)  40/243 (a) 06
(c) 20/243 (b)~ 07
(d)  10/243 - 08
(d 09

102. f=fafed oAt w foem Hifve .
1. P(A UB)=P(A ~P(A
( )=P(A)+RE) «B(A NB) 105. TH T x,, x,, xg .., x, F AA T T |
2. P(ANB)=P®B)-PA N B) A x; = a +cy; B, T a 3N ¢ FIE 3=k &, @

y]_: Yz; Y3, LA ] yn aﬂ- ]”Eﬂ EF‘JT _EaT” ‘?
3. P(ANB)=P@B)PA|B)

; " (a) a+cX
39 W ¥ S8 Y wE § 2
1_
(a) haw 13 2 ) a--%
(b) “hael 137K 3 1_
(e) Ex—a
(c) <had 23R 3
X—a
d 1,233 e c
SRCY-S-ADN (87 —A)
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106.

107.

Consider the following statements :

1. If the correlation coefficient Lo 0, then

the two lines of regression are parallel to

each other.

25 If the correlation coefficient A

L +1,

then the two lines of regression are

perpendicular to each other.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1land?2
(d) Neither 1 nor 2

If 4x — 5y + 33 =0 and 20x — 9y = 107 are

two lines of regression, then what are the

values of X and ¥ respectively ?

(a) 12 and 18
(b) 18 and 12
(¢) 13 and 17
(d) 17 and 13
SRCY-S-ADN

108.

109.

(38-A)

Consider the following statements :

1. Mean is independent of change in scale

and change in origin.

2. Variance is independent of change in

scale but not in origin.

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2

Consider the following statements :

1. The sum of deviations from mean is

always zero.

2, The sum of absclute deviations is

minimum when taken around median.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2
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106. f=fafga suat w fomm Sifsm -

107.

1 W) weEEd T ro-0 3, @ 2N
HHIHA T@TY Th-GH o I ¢ |

2. AR wEEEW q0F r, = +1 3, A
A @ TR &4 7 |

Soe FOAT § A HE/E TR 2

(é) +ad 1

(b) a2

1 31 2 g

(c)

(@ Ad1L,TE2

U%4x—-5y+33=03ﬂ'(20x—9y=107a
USO8, @ x 3 y & HA HEY: R
27 '

12 37 18

(a)

(b) 18312

(¢) 13317

(d 17313
SRCY-S-ADN

108. F=feiRaa et w femm hifsw .

109.

(39-A)

1. Hied, A19shH § Sead o gt # deere |
WA B |

2. WE, HOSHEH § 9eeTE & T § 0 0el

4 FeeTE | TE |
SUYFA # H HAAT/F B T 2/ 2
(a) A 1
(b) A 2
(¢) 13K 28

(@ dAd 1,982

fFefafga suat w fo=m $ifs -

4, _mﬁﬁaﬁwﬁwﬁawﬁm

g1

2. ﬁtﬁ&?ﬁﬂﬁﬁaﬁra’lﬂwaanﬁanam%
9 9 Hifedenr @ fow Sd # |

39YFd HUAl H F HH-AT/ T /R 2

(a) had 1

(b) had 2

() 13 2TMl

@ TdMLIB2
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110.

111.

112.

What is the median of the numbers

46, 0, 93, — 48, 7-6, 2:3, 12'7, 35, 82, 61,
39,527

(a) 3-8
(b) 4-9
(@) - BT
(d 60
In a test in Mathematics, 20% of the students
obtained “first class”. If the data are

represented by a Pie-Chart, what is the

central angle corresponding to “first class” ?

(a) © 20°

(b) 36°

(c) 22

(d) 144°

The mean and standard deviation of a set of

values are 5 and 2 respectively. If 5 is added to
each value, then what is the coefficient of

variation for the new set of values ?

(a) 10
(b) 20
(e) 40
(d 70
SRCY-S-ADN

113.

114,

115.

(40-A)

A train covers the first 5 km of its journey at a
speed of 30 km/hr and the next 15 km at a
speed of 45 km/hr. What is the average speed

of the train ?

(a) 35 km/hr
(b) 375 km/hr
(¢) 895 km/hr
(d) 40 km/hr

Two fair dice are rolled. What is the

probability of getting a sum of 7 ?

(a) 1/36
(b) 1/6

© 17/12
(d) 5/12

If A and B are two events such that
2P(A) = 3P(B), where 0 < P(A) < P(B) < 1, then

which one of the following is correct ?

(a) P(A|B)<P(B|A)<P(A N B)
(b) P(ANB)<P®B|A) <P(A|B)
() P(B|A)<P(A|B)<P(A N B)
@ P(ANB)<PA|B)<P®B|A)

@ Teachingninja.in



110, TEIAT 46, 0, 9-3, — 4-8, 7-6, 23, 127, 35, 82, | 118. TH MGl 310 AT F T9 5 km, 30 knv/hr
6'1, 39, 5,2% ’q-l-fa:laﬂ FT % ? %T W ﬁ 3?“: -3:|T|é 15 .klll, 45 knl/hr ﬁ W
- T ! B | Torme I sfea e e R 0

(a) 3-8

(a) 35 km/hr
(b 4-9

(by 375 km/hr
(¢) 57

(c) 395 km/hr
(d) 60

(d) 40 km/hr

111. T 61 U when §, 20% B “gom A0 wreq

%lw&aﬁwwq:s (” )?Ulm.aﬁm&?mmﬁ%mmm%lmwwrcm?
PISHEL Tl B W SR Bl % 3 <1 TTfaedr = B 2

g T T R 2

(a) 1/36
(a) 20°
(b)  36° N
@ T2 () 7/12
(d)  144° (@  5/12

112, 9RHTOT (W) % U T &, W1 3T A
foaem A9 5 st 2 lqﬁmwll5aﬁAaﬂwamﬁmW§fm
(wF) 4 5 S feam W, o 9fmmn % A 2P(A) = 3P(B) 98T 0 < P(A) < P(B) < 1 &, 4l

T 1 fEROT T e R 0 ffofaa 4 @ 991 vt 2 2

@ 10 (a) P(A|B)<P(B|A)<P(A N B)

by 20 (b)  P(ANB)<PB|A)<PA|B)

(c) 40 (c) P(B|A)<PA|B)<PANB)

d 70 (d) P(ANB)<PA|B) < P(B|A)
SRCY-S-ADN (41-A)
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116.

117.

A box has ten chits numbered 0, 1, 2, 3, ..., 9.
First, one ‘chit is drawn at random and kept
aside. From the remaining, a second chit is
drawn at random. What is the probability that

the second chit drawn is “9” ?

(a) 1/10
®  1/9
(¢) 1/90

(d) None of the above

One bag contains 3 white and 2 black balls,
another bag contains 5 white and 3 black

balls. If a bag is chosen at random and a ball

118.

119.

120.

is drawn from it, what is the chance that it is
.White ?
(a) 3/8
(b) 49/80
(c) 8/13
(dy 32
SRCY-S-ADN

(42-A)

Consider the following in respect of two events
AandB:

1. P(A occurs but not B) = P(A) — P(B) if
BcA -

2 P(A alone or B alone occurs) =
P(A) + P(B) — P(A N B)

3 P(A U B) = P(A) + P(B) if A and B are

mutually exclusive
Which of the above is/are correct ?
(a) 1lonly
(.b) 1 and 3 only
(¢) 2and3only
(d) 1and2only

A committee of three has to be chosen from a
group of 4 men and 5 women. If the selection
is made at random, what is the probability
that exactly two members are men ?

(a) 5/14
(b 1/21
() 3/14
(d) 8/21

The standard deviation o of the first N natural
numbers can be obtained using which one of
the following formulae ?

o =
b)) o= Nzlz— :
() o= %
(d o= N:ﬂ; 1
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116. T st ¥ 10 ufai € om0, 1,2, 3, ..., 9

117,

forar gam ® | vgdl ww u= Igesw feweh
STl 8 SR T W W@ ) Sl § | S e
49, w gEl v ageem el @t @)
el o=l % “0” B Y WTRrehar R B 2

(&)  1/10

b 1/9

(@ 1/90

(d) Suddd ¥ & HIg T

T O # 3 whg ot 2 Wieht T €, qwt O #
5 The 3N 3 wfl T B | AR wH I W
Igesdl AT I 8 AR 3H F T g et
St @, 1 e % WG B ol R iehar 2 2

(a) 3/8
(b) 49/80
(c) 8/13

@ 1/2

118. § g3 A 3R B % el #, f=fafes w

119.

120.

SRCY-S-ADN

(43-A)

foam fifse .

1. P(Adfa & afea B 7d) = PA) - P®B)
FeBc A

2. P(®dd A I Hdd B HiEd &) =
P(A) + P(B) - P(A N B)

3. P(AUB)=PA) + PB) Al AR BIER
TyaSi &

IRfFd § ¥ FE-A7A 98 372 2

(a) had 1

(b) hael 137 3

(c) <had 2 3N 3

(d) e 13K 2

4 9591 AR 5 Afgeedl & wh g § ¥ 3 @
<! Tk Aty w1 == e o @ | 9l ==
Irg=edl foram ST 8, @t o wifehar @ o ged
Bleh-dlh 2 eI gey &l 2

(a) 5/14

(b) 1/21

(¢) 3/14

@ 8/21

frfafad § & fF9 g 1 W= T, 99H N
WThlcreh TSN 1 W foreed o, UTed fapar
T ka1 B 2

(a) o= N212_ -
(b) o= JF
(€0 o= %
@ o= N:;x; L
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SPACE FOR ROUGH WORK
T WA o foTg ST
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SPACE FOR ROUGH WORK
=t w1 o fore wre
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SPACE FOR ROUGH WORK
! ShIH & foTu g

SRCY-S-ADN (46 -A)
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SPACE FOR ROUGH WORK
H= I & oo T
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T AF HTTH T AT Gt Wi &1 T FgT AT 7T 7% T Giet

A, =, & : SRCY-S-ADN wferor giererT sEA

T

Wa%wa“aﬁm?wﬁva guries : 300

10.

AT
uﬁmm@ﬁ%ww,mwuﬁwg@mﬁwmwﬁ%gﬁﬁﬁmw,
el A1 el gHT S AT WA, AT A E | Afg YA 7, A 38 We TNeron gt | seqe T |
FuaT A W@ T OMR 3709 ¥, ST Tom o, e TR SR adteron giwest (i
FYT) A, B, C T D Y, e & va faan fonelt w1 o fawmfa & o o ghemg & A1 Rreerd
srftear h1 2 | Tt oft wem Y v /ot <y fearfa & seeowsres Feea a foam wmam |
39 TherT gieaesr W @Y § fGu T whises W ST Sl
SRR foreaT B | T gt W o g T e |
=g qlteror qfEeT 120 W (T) R | e v Rl ofR ot SFl H w9 R | e
T § R S (IW) Ru MU E | e § Uh IR B o, o 3 SO W SAfhd H
TR & | A AT vET o R U § A1 Y @8l 8, a1 39 JegTl i Sifehd L S ATIH! HeloH
M | SRS YT % U @eer o g TSI T @ |
IR ST T SR Ter I fiu i SevEe W g7 Sifehd F # | I | fou e ey ofe |
TY} T o 3H GUE 7 |
SEd Eel b 31T i qieet & R i % YRR STH-UES W iR T I L, IR FoY
OGS % Gy UG et % SER e faawr IwuEs #57 § |
maﬁaﬁﬁﬁﬁﬁm—wﬁmﬁ%mawqﬁw%wméﬁﬁﬁ?—maﬁwﬁ
T 3 | e e ghteror gierer & S A1 Al B | !
=l HH 10 T FeT0 TRt & 37d § Herd @ |
Wﬁﬁ%ﬁ‘mm:

Tegfe weA-uE § sefigan g fau T e s o forg que fear s |

() uerE T ¥ fu SR Swfoye I 3 | Infigar gr yee W % fore feu o ves e IR % T w
79 T fopy o 3Rt 1 ueh-TreTg U % w9 H e A |

(i) afe P IedicaR v & W I 2 B, @ $@ Terd I W e, Fefy fou e Swd 4 €@ U I
e B 2, fim ot 38 wea % fow swfwrEr @ 3E T w1 gve e s |

(i) afE Ifiean g0 RS Y B T8 R S 2, el sefiear gro e T fem S &, @ 9@ 9 9
for, g gue 7 fean <o |

ST A HATTHT T TAHUT GIeaasT GeT &1 7 el AT T aa 7 @iot

Note : English version of the instructions is printed on the front cover of this Booklet.
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